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Note: 1. Question paper consists of two parts (Part-A and Part-B)
2. Answering the question in Part-A is Compulsory
3. Answer any THREE Questions from Part-B

What does a geologist say about the Nile valley that developed civilization?
What would be the nature of climatic change in future?

How does solar thermal power work differently from photo voltaic cells?
Define "flow’ in the words of Abdul Kalam.

What was Bose’s educational background?

What was Bhabha’s view of nuclear physics?

How does Sambu persuade his friend to see the film?

PART -B

Why did Raman say that water is an elixir of life?
Write a letter to your friend about your college excursion.
‘Bhabha had a passion for order’- Illustrate.

E.V. Schumacher says that technology brought several changes in our life style
and he warns us also about the consequences. Elaborate.

Give the synonyms of the following:
(i) disaster (ii) perish (iii) hostile (iv) aspire (v) unusual

Write about Bose’s experiments related to plant responses.

Write about Abdul Kalam’s association with Wernher von Braun’.

Fill in the blanks with suitable verb forms:

1A I e the exam last Sunday. (write)

(i) While ------------ along the road he ------- a beautiful flower. (walk)(see)
(iii) The Earth --------------- round the sun (move)

(iv) Victor ----------- [live] here since 1991.

What is Sambu’s response to his father’s film?

Write about solar power generation in Spain.
What is note making?

Give an account of Sarabhai’s work related to atomic energy.
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a) How did human development create change in climatic patterns? (6M)

b) Correct the sentences: (5M)
(i) The house is made with wood
(i1) He is more taller than his brother.
(iii) Sheetal is having a a brother.
(iv) She says she was happy.
(v) He cut the wood by an axe. .

c) Rewrite as directed: (5M)
(i) She broke the glass[change the voice]
(ii) He said ‘I am busy now’[change to reporting speech]
(iii) He is honest. He works hard. [combine the sentence]
(iv) Though it is raining, he went out .[ change to simple sentence }
(v) make both ends meet [give the meaning of the idiom]

a) What does the lesson “The secret of work’ tell about being unattached in all that (8M)
we do?

b) Write a report on ‘tourism in India’ (8M)
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